BEHITER

1. 873 = —
) 256

2. 104 =1

3. 4%% = 25x+7

4 (G ="

5. 22x+3.4x+6 — (8x)x

6. 75-3% — gx+2

7. 2x*-1 — g3x+1

8. 3%*1 +9*—-18=0

9. 3* 1 4+33*-10=0

10.2¥*2 +3(21™%) - 14 =0

11.3% — §X+2 — 3x+1 _ gx+3
12.417% = (9

13.3°* =3

14.3**1 = ¥

15.32**1 = 10(3%) — 3

16.52**1 = 26(5%) — 5

17.22%%8 —32(2%)+1=0
18.&a™ = 10 KZa™ = 2,)lja™ 2" =
19.1%3%%Y = 243K 3%V = 3, 5k x f91&
20.£4% = 5,8* =
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21 (4)(3%) = 5o Rx + yHIfE
22.9189* = 2597 = 16,5k3*"YHy{E
233272 + 3771 = 2 Ron (Y{E
24.24%F1 9(3%)2 = 6°7Y 3kx + yHY{E
25. 2 H13™ = 6,9" = 2, 3k32m-4n
26. fRIEFTRRN 2" + 22 - 12 =0
27.58(2%)%. 4%*769) = —
28.2 40y = ax? + 10, B ¥ x=2 A y=26
K H x=3 it y=64, Ka &

29.%@7‘7&;‘&22”2 4 2X+2 = 3

30.fR 77720 0.25% = 322%73

31 A2 + 217 =5
32.FRFFFET2XTL + 2%+2 4 2%%3 = 224
333 —6(3¥1) +27 =0
34 RFTFEREYH2 — 3(5%+1) 4+ 5% = 275
35.@7*3%%:—&3“2 — 3%+l — 9

36.# 2 7TTE 4" + 16 = 5. (2*V



